=
E 0l & A A
S Ol XD
M U MY X
Col: RHAFBKC B (YSALTLATHAANIMLSES CREED
SN B E(BN) - NRAY - BES p/E-T" HDEZ
O LA X 2t 71,988 3,639,038 3,132,950
J| ,292,400 3,292,400 3,000,000
Al 479,588 346,638 132,950
GILIX &g X 6,748,688 3,639,038 3,109,650
p] 6,292,400 3,292,400 3,000,000
Al 456,288 346,638 109,650
YHAZBN Y SHSHLSALHLATHT AKX ALY 748,688 3,639,038 3,109,650
EEEB)
p] 292,400 3,292,400 3,000,000
Al 456,288 346,638 109,650
SEA FERGY KA (R 105,080 0 105,080
NPERH = 18,999 0 18,999
01 Al&HI 18,999 0 18,999
OUHAFHISA OIS X
18,998, 12021 * 14 18,999 0 18,999
402 Q12 X201 E 86,081 0 86,081
01 BIZIRHE AL 2 (RHAI TH &) 86.081 0 86,081
OYHAFHIA 012 X g
86,080,360%! * 100% 86,081 0 86,081
SHA FET KA ) 79,000 79,000 0
J| 79,000 79,000 0
401 A& H LSO 56,680 63,000 £6,320
p] 56,680 63,000 6,320
01 Al&HI 56,680 63,000 16,320
OHALZHIY IS (SIY )
23 56,680,008 * 14 56,680 63,000 26,320
p] 56,680 63,000 £6,320
405 XHHE S HI 6,320 6,320
p] 6,320 6,320
01 ML SEHSH] 6,320 0 6,320
OYHAZHI Y (223 3)
6,320,0008 * 14! 6,320 0 6,320
p] 6,320 0 6,320
WHA FUR KA % SEI) 5,007,900 2,007,900 3,000,000
p] 5,007,900 2,007,900 3,000,000
401 A& H LS OH bl 500,000 0 500,000
p] 500,000 0 500,000
01 Al&HI 400,000 0 400,000
OoloIstel X2 HYBAH(LYH)
400,000,0008 * 144 400,000 400,000
p] 400,000 400,000
02 22l 100,000 0 100,000
Ootolstel Xelz HEMBAH(LYH)
100,000,0008 * 14 100,000 0 100,000




(& PN

DU X &Y X
DAY LS (LENEHEAFHIGAXNIASELSH) ce i )
SN FE-S(SH) - MBAY - B 0l &b 2 pJE-E HDE2
Jl 100,000 0 100,000
402 2IZ2tXt=01& 1,500,000 300,000 1,200,000
Jl| 1,500,000 300,000 1,200,000
02 U2 TEALEZ(0IETHE) 1,500,000 300,000 1,200,000
OgdA=EHIY DISXNI(4EH)
Z & 1,500,000,000& = 100% 1,500,000 300,000 1,200,000
J| 1,500,000 300,000 1,200,000
403 AXHHSXH=0lA 3,007,900 1,707,900 1,300,000
J| 3,007,900 1,707,900 1,300,000
02 S 2SoHet 2 XS ALY 3,007,900 1,707,900 1,300,000
OgdA=EHIN DISXNI(EEH)
2 & 3,007,900,000& = 1 3,007,900 1,707,900 1,300,000
J| 3,007,900 1,707,900 1,300,000
ol gl gl 31,208 26,638 4,570
801 ol 8l 31,208 26,638 4,570
01 eHoildl gl 31,208 26,638 4,570
Ooolglsl Z & 31,208,000& = 1 31,208 26,638 4,570
Heas (X 23,300 0 23,300
SEINS(LAEANLHEAZTHIAXZASELSIH) 23,300 0 23,300
OUHX & NGENLERE2 FTHEXS BHE 23,300 0 23,300
802 Bret =2 JIEt 23,300 0 23,300
01 =02Xx=tte= 23,300 0 23,300
OLHEAFHI X AAE AHESH BtES
23,299,340& * 1 23,300 0 23,300






